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RDOMER f(2) 2R g(z) TEH- ML R D 2ZRTNRD &,
(1) f(z)=3z3+22+1, g(x) =2 —z+1

(2) f(z) =323 +22+1, g(z) =322 — 3z +3

(3) flx) =2 4+2+1, g(z)=2x+1
) f

(4) f(z) =222 +z+5, glv)=2>—x

TEE 1-2
RDOEEX f(r) 2R g(x) TEI- 7R R ZZNTNRD X,
(1) flx)=(@*—2z-5)(x+2)+3z+4, gla)y=2>—2 -5

(2) flx)=(@*—2—-5)(x+2)+3z+4, g(xv) =x+2
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BHRC . y=a2> L1ERRL: y=-22+3D2DDRMELENPS AB &5,

(1) A,B DJEEZ KD K,
(2) #7> AB DHEEE —SFN#RE m &9 5, m DAZEKRD X,

(3) EBAEm LHWIKR C D2 DDORMELENS PQ LT 5, MAK APBQ ®
M S 23k X,
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(1) N & HZRES R &,

(2) N DEDKIE DML n %KD K,

(3) N DIEDRIEDH S %K X,

(4) NOEDOKED S B, FHETH2EDDMEBIm %KD K,
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(3) AB=6, BC=4, CA=5T»5 -fAKLABCIZDOWVT, UTFDE%K
o X,
(7) cos A
(1) sinA
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